1 @WN s UNDER BODY PROTECTION

UGNND22T1

Brown Davis Automotive Pty. Ltd. 20
ABN: 72 657 573 544
Copyright Brown Davis Automotive Pty. Ltd. This document contains technical information the property of Brown Davis Automotive Pty. Ltd.

NISSAN NARVARA D22 TRANSMISSION AND TRANSFER GUARD aa
UNDERGAURD PARTS LIST AND FITTING INSTRUCTIONS
PART NUMBER: UGNND22T1 40
Item # Description Quantity Part No. P C 50
1 UNDERGUARD 1 UGNND22T1 . -
2 SET SCREW — HEX — M6 X 15mm - PLATED 8.8 4 60
3 SET SCREW — HEX — M10 X 60mm — PLATED 8.8 2
4 SET SCREW — HEX — M10 X 90mm — PLATED 8.8 2 e
5 WASHER — SPRING PLATED — M6 4 80
6 WASHER — PANEL PLATED — M6 4
7 WASHER — FLAT PLATED — M10 2 90
8 WASHER — SPRING PLATED — M10 4
9 WASHER — PANEL PLATED — M10 2 L
10 SPACER BLOCK 10mm — SINGLE HOLE 40x40mm 2 SP-CH-10-04040 110
1 SPACER TUBE — %" — 60mm LONG 2
12 SPACER BLOCK — TRIPLE HOLE — M6/M10/M6 CAPTIVE — 40X90mm 2 SP-TH-10-04090 120
13 KIT LIST 1
130
140
STAFF MEMBERS INITIALS
KIT PACKED BY 150
KIT CHECKED BY 160
170

180
190

200

260

Brown Davis Automotive Pty. Ltd. 1
47 Holloway Drive, Bayswater, Victoria, Australia 3153
Ph: +61 (3) 9762 8722 | Fax: +61 (3) 9762 9829 | Email. info@browndavis.com.au | Web. www.browndavis.com.au

DATE LAST EDITED: 28/10/2013

N
~
o



@WN s UNDER BODY PROTECTION

UGNND22T1

Brown Davis Automotive Pty. Ltd.
ABN: 72 657 573 544
Copyright Brown Davis Automotive Pty. Ltd. This document contains technical information the property of Brown Davis Automotive Pty. Ltd.

1. Fit the 2x SPACER BLOCK — TRIPLE HOLE — M6/M10/
M6 CAPTIVE — 40X90mm, to the cross-member on top
of the gearbox.

. Use M6 bolts to secure plates insuring the centre hole
lines up with the large hole on the cross-member

2. Remove 3 rear mounting bolts from front underguard.

. Lift transmission guard into place, with front guard
staying on the outside of the set.

. Line up holes. Using the M10 bolts finger tighten in
place

3. Fit 2x SET SCREW — HEX — M10 X 60mm — PLATED 8.8,
with spring and panel washers, into the holes in the
center of the guard.

Brown Davis Automotive Pty. Ltd.
47 Holloway Drive, Bayswater, Victoria, Australia 3153
Ph: +61 (3) 9762 8722 | Fax: +61 (3) 9762 9829 | Email. info@browndavis.com.au | Web. www.browndavis.com.au



1] @Wﬂ UNDER BODY PROTECTION

UGNND22T1

Brown Davis Automotive Pty. Ltd.
ABN: 72 657 573 544
Copyright Brown Davis Automotive Pty. Ltd. This document contains technical information the property of Brown Davis Automotive Pty. Ltd.

4, Feed the 2x SET SCREW — HEX — M10 X 90mm - PLAT-
ED 8.8, with spring and panel washers, through the
40x40 plates, then insert bolt into crush tube.

o Slide the set in through the cross-member and tighten
bolts into captives on the guard.

. Tighten all the bolts.

Brown Davis Automotive Pty. Ltd. 3
47 Holloway Drive, Bayswater, Victoria, Australia 3153
Ph: +61 (3) 9762 8722 | Fax: +61 (3) 9762 9829 | Email. info@browndavis.com.au | Web. www.browndavis.com.au



